
Jewelry Math: 2 + 1 = 15!!!!! 

2 necklaces of similar lengths & complementary colors + 

1 Slide or Pin = 15 different combinations!!!!! 

1. Necklace A worn long 

2. Necklace A long with a slide or pin 

3. Necklace A Doubled 

4. Necklace A Doubled with slide or pin 

5. Necklace A twisted 

6. Necklace A worn in a “Y” 

7. Necklace B worn long 

8. Necklace B worn long with slide or pin 

9. Necklace B Doubled 

10. Necklace B Doubled with slide or pin 

11. Necklace B twisted 

12. Necklace B worn in  “Y” 

13. Necklace B worn long & Layered with Necklace A 

14. Necklace B & A layered and doubled 

15. Necklace B & A twisted together with or without slide or pin. 

 Bonus, most long necklaces can also be worn as a belt!!! 

Suggested necklaces: 

*Sedona & Shake it Up + Notting Hill pin 

*Very Berry & Urbanite or City Lights + Camille pin 

*Opening Night & Opulence + Pearls Night Out pin 

*Downtown & Emerald Isle + Romance slide 

* Newport & Ice Crystal + Camille Pin 


